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General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper code No. 68 / ESS /1-B on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one
of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You arerequired to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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Note :

This question has two section - Section “A” and Section ‘B’.
Section A has 36 questions from Question No. 1 to 36. All questions are compulsory.
Section B has 11 questions from Question No. 37 to 47.

Section B has two options. Option - I : Analysis of Financial Statements. Option - II :
Application of Computers in Financial Accounting. Candidates are required to attempt

questions from one option only. All questions of an option are compulsory.
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NOTE / a9t :

(1) Answers of all questions are to be given in the Answer-Book given to you.
quft Ie1 o W 9RI S Tl giegent | 2 o |

(2) 15 minutes time has been allotted to read this question paper. The question paper will be distributed

at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and

will not write any answer on the answer-book during this period.
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SECTION - A / @US - 31

1.  If a share of X 10 each on which X 9 called up (including premium of I 2) and X 7 paid up 1
(including premium of I 1) is forfeited Securities Premium Reserve Account will be debited
by :
(K) 2 (B) 1 (C) Zero (D) %3
MG T 10 TS & A9 Fo W T 9 A feg @ & (598 3 2 o1 Wifiem ot wfitwfera §) afea 278 ara
T (e 7 1 =1 Hifw wfwfed ) 1 Ssd e s o gfayfa whifem == @ & 9@ v 8 faan
NSITQEAT .
(A) X2 (B) %1 <G A (D) %3

2. If a share of ¥ 10 on which X 8 called up and X 5 paid up has been forfeited the share capital. 1
Account will be debited by :

Afg3 10 % fe fo W 8 Hramw 7 ¥ S¥R 5 1 A R T R, R S feren < q ofw s
@rd o 9 uel § forg Ui a1 o fohan smam ?
(A) %10 (B) 8 (©) %5 D) 6

3.  Gain of a partner is : 1
(A) Existing (Old) Ratio - New Ratio (B) New Ratio - Existing (Old) Ratio
(C) New Ratio - Sacrificing Ratio (D) Sacrificing Ratio - New Ratio
Teh TR 1 S 2 :
(A) odHH (G I ~ T A (B) A1 S - TG (AT ST
(C) a1 AFU - N HAJId (D) <0 AJUI — AT AU

4.  Which of the following is treated as unrecorded asset ? 1
(A) Sale of old Furniture
(B) Goodwill appearing in the Balance Sheet
(C) Bad debts recovered, written off in previous year
(D) Sale of Investments

frfafed 9§ & ®F € sifafed dufa 82

(A) U =R o faska

(B) Teafa foeru ¥ wsfia @nfa |

(C) Traet ¥ & A9 9 sfAfEd = |

(D) froren o1 fosha

5.  Balance of Provision for Doubtful Debts as on 15t April 2023 was X 2,500. Bad debts during 1

the year were X 600. A provision for Doubtful Debts is to be credited @ 5% on debtors of
< 20,000. Provision for doubtful Debts credited to Profit and Loss Account will be :

1 T8t 2023 1 GieTe KON % WA B AT T 2,500 9 % SR AU FOZ 600 T 20,000 F
TERI W 5% i < A TiETH 501 WaeH 1 Goir fohan 71| oy g1f @ o S vat | ey o
YL it forat T 1 e foran s ?

(A) T 800 (B) ¥ 1,000 (C) T 1,200 (D) % 900
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10.
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Which of the following sub-unit of central processing unit stores data before being actually
processed ?

(A) Control Unit (B) Memory Unit

(C) Logic Unit (D) Output Unit

FrAfafed # ¥ $E THER ST 1 DA H ST-FHE aRfTS THER § T8l 2 I HURI
HA B2

(A) F g (B) ¥R AT

(C) oSk (dh) IfTe (D) 3Ry Ife

Liabilities of a firm are ¥ 8,000 and total Assets are I 20,000. What is the capital of the
proprietor ?

T FH 1 JFAE T 8,000 ¥ T FA Hufwai 20,000 ¥ | WH hY IS o BNt 2
(A) ¥ 20,000 (B) ¥ 28,000 (©) T 12,000 (D) ¥ 8,000

Sale of Machinery on credit is recorded in :
(A) Sales Book (B) Journal Proper (C) Bank Pass-Book (D) Cash Book

YR W WM o fashd o1 o B .
(A) faka gw (B) fRMISAMH= (C) & TH-I& (D) UhE =l

Which of the following is not an error of principle ?
(A) Purchase Book is totalled ¥ 20,000 instead of I 15,500.

(B) Repairs on the overhauling of second hand machinery purchased is not recorded in the
books of accounts.

(C) Typewriter purchased for office use has been debited to Purchases Accounts.
(D) Sale of an old car credited sales Account.

Frefafea o 9 %9 o fagm =t o1yfs & 82

(A) T JEh B A SIS T 15,500 T ST T 20,000 T AT

(B) Weh YUHT WM % TelTehTor TR fohall T HOHA WX S0 k1 ol &dehi | el i 21 foranm T
(C) HAcd ITART & T TEUER 1 @1 5 WA o A 9&1 § foham 7|

(D) T G &R < fospa &1 o faskd @Id o 591 981 | fohan T4

‘Life-Membership-fee” received by Not-For-Profit Organisation is shown as :
(A) Income in ‘Income and Expenditure Account’

(B) Expenditure in ‘Income and Expenditure Account’

(C) Payment in ‘Receipts and Payments Account’

(D) Capital receipt and added in the capital fund of Balance sheet

Teh STTRRT HEAT GRI U hi T SASITE TS T Rl fa@mn S €
(A) ‘ST @M’ H o™ % €9 H

(B) ‘ST g @’ H =k w9 H

(C) ‘'Wiftq- T @rd’ | 97 % €9 H

(D) UsirTa wiftq fomy fearfa foremon & 4ot i § Sire fean s 71




11.

12.

13.

14.

15.

Which of the following account is prepared by a Not-For-Profit Organisation ? 1

(A) Trading Account (B) Income and Expenditure Account

(C) Profit and Loss Account (D) Total Creditors Account

Frafafad # § T el T 51 M 91 @l Tar R S e ?

(A) SATIR @ (B) T = Wl

(C) o =i+ @l (D) T AIER Gl

When realisation expenses are paid by a partner on behalf of the firm, which of the following 1
account is credited ?

(A) Realisation Account (B) Cash Account

(C) Partner’s Capital Account (D) Expense Account

9 el S T PTIH HH h SR ¥ TH WEER g fE S © @ frefated § | fee wm #
STH-geT | o feran S € 2

(A) ol (B) kg BTl

(C) HTRIRR 1 qsit @l (D) = @

A firm earns profit of I 1,30,000 on a capital of I 10,00,000 and normal rate of return in 1
similar business is 10%, super profit will be :

T %  10,00,000 T ISt T T 1,30,000 1 AT TS Il § | 39 TE & 3T SHIHE! Sl T
Y W10% B, @ AU (super profit) FT BT 2
(A) ¥ 1,00,000 (B) ¥ 1,30,000 (C) ¥ 30,000 (D) ¥ 1,13,000

In case of profit on re-issue of forfeited share is, it is transferred to : 1
(A) General Reserve Account

(B) Capital Reserve Account

(C) Securities Premium Reserve Account

(D) Share Capital Account

e A9 o AT W g oy 1 foRd @ § gaiana e S § 2
(A) HHE = @Al

(B) o ot T

(C) wfayfd diftem H== @

(D) sfer it T

Fill in the blanks. 1x2
(i) At the time of death of a partner his/her executer is entitled to all the rights of a

(i) At the time of dissolution of partnership firm balance of general reserve is transferred

to___
e o wRT
() TH UEER & g & 915 ITh STHHRT ! & et s1fyeR fia S €
(i) WH % faEET % O WM SO % AT T TR 1 B B
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16. Give one word answer to the following : 1x2
(i)  Which account will be debited on money withdrawn from Bank for personal use ?

(i) Which facility is offered to store and process transaction data in computerised accounting
system to retrieve information to generate and view financial reports.

frAfafEd &1 W T 3 ¥ ST
() AR T % faT S 9 T TR0 1 fohd @rd & AW v # fown smem 2

(i) focie RO s9M iR S & T Y1 I T 7Y FFEEHd @i Jumelt H oHed % gl
I GUE IR Gy 1 & fow SiF o gfaemd g i S § 2

17. Give one word answer for the following : 1x2
(i) Depreciation reduces the value of

(i) Transactions, when recorded in Journal, are known as
et o SR T veg H S|

(i) o9 YT FH R AT

(i) TS TFGH I TE UsHTS | B S § @ T8 HaT S ©

18. Give one word answer. 1x2

(i)  Atthe time of retirement of a partner, Loss on revaluation will be debited to the partners
Capital Account in which Ratio ?

(i) After the preparation of realisation account, gain or loss on realisation is transferred to

T T8 H IW N
(i) T URIGR S Hagia W qIHeaih W i g1 TReri % Yot @l # fohd ST § e
o forelt st ?

(i) O ST TR B WM TR S T 31T Bl I el T foman S § ?

19. Complete the following : 1x2

The mostly used input devices are keyboard, and

frfafea &l 9u HifwT
oy Afh ST i A et 3792 feaesa wierE, 3R g

20. As per Rules of Accounting, Increase in Asset is and decrease in Asset is 1x2

Tt frml & ogER, dufaal # gfg = ge7 H foran S & den dufadi § st
el Te1 | o Sfrm ¥
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21.

22.

23.

Give one word answer of the following :

(i) A share of X 10 issued at a premium of ¥ 2 on which the full amount is called up and
% 7 is received, share capital Account will be credited by ?

(i) That part of share capital which is uncalled and kept in reserve is known as ?

(iii) State any one purpose for which securities premium reserve amount can be utilized.

(iv) When shares are issued to promoters of the company as remuneration for their services
which account is debited ?

frefafed & forg t v # Sw it

() T2 % fored W fefa 210 9fad o T ofw o @ uf¥r 6t Ao @ gt €, 77 & wa gu i
391 ISt @ % < get | e i fodt s 2

(i) T IS o1 a7 9T FSrEeRt e TR R S SR S/ o= R T S €, FHEerd § 2

(ili) S T 3e¥d aargd foreeh fore gfayfa difas d== s &1 ST fohan ST dehdl < |

(iv) e HEIAT o Yookl Sl St Fanst o fore migfies & &9 H o9 S oy S0 € O SE 9
W % A 9e1 § o o S § 2

Give one word answer to the following questions :

(i)  Which account shows Surplus or Deficit in case of Not-For-Profit organisation.

(i) When proprietor draws goods from the business for his/her personal use, it is known
as ?

(i) Net Purchases=Cash Purchases + Credit Purchases — .

(iv) While preparing Income and Expenditure A/c of a Not-For-Profit organisation ‘Accrued
Interest’” is shown on which side ?

Frfafead 9o o1 W T v | e

(i) TR Heeel % wrdl # fohe @ § sifeny s fem St €

(i) T TETH IEE ¥ U 3T AR FANT % fAu fehTerd §, o 9 wean § 2

(i) TS FA=-ThS HI+SUR HI — |

(iv) STATHHRRI HEA o foTu STor-=2r @il oA 994 * SAfsid =1’ sl fore 3T/ a1 H, fo@men s
8?2

Give a name of the accounting error for the following transactions :

(i) Wages paid for the construction of office debited to wages account.

(i) Goods sold for X 4,200 to Hari Om on credit were omitted from the accounts although
cash received.

(i) Purchase of Furniture is entered in Purchase Book.

(iv) Gurman’s Account was short credited by I 1,000 while Manisha’s Account was excess
credited by < 1,000.

frefafed e & fau eeisa s1gfs s W S

()  AfRE o o & fore < 18 Asigd o1 oren vl @rd ok AW 9§ o T

(i) SR 3Tm = T 4,200 1 A1 SUR =1 T IHHT @ fohelt @A H T2 goTl Salfch SHRT ThG
A o 9T & T

(iii) TTER T BHQ 1 @l ha Tk | TR T

(iv) M % @ % SH-98 § ¥ 1,000 A fog TC @i T %k @d & SH-98 H 1,000
Hferes fere T |

1x4

1x4

1x4

[ 3 [m]
68/ESS/1-320-B | 7 g% [ Contd...



24.

25.

26.

27.

28.

Write names of affected accounts while making Journal Entries of the following transactions : 1x4

(i) Goods sold for cash (i) Goods purchased on credit

(iii) Salaries paid (iv) Depreciation charged on furniture

Tt - =1 sl @ar felfte | guiferd @i o =9 gife |

(i) A T Tehg fosha (ii) ST 1 SUR hA

(iti) YT foRa T oA (iv) TR T B ORI T

(i)  Explain how re-issue of Forfeited shares at discount is recorded in the books of accounts. 2
= A9 o g R GH:FFET 1 i oran JEaen | 58 T s g2 faeror i

OR/3aT

(i) Explain how issue of shares for consideration other than cash is recorded in the books
of accounts.

foear @ Tuged f Ashs & Afafad fFdt o= wfawar & sat o9l & ffee 1 orer e
I @IaT-hi § H8 frar S § 2

(i)  Give the meaning of Sacrificing Ratio. How it is calculated ? 2
IR AT 1 31 fTT | SR MO HY R S § 2
OR/3TeralT

(i) If at the time of retirement/death of a partner, goodwill already appears in the balance
sheet, how will it be treated ? Also give the necessary Journal Entry.

Ifc FRRR i Harfgia/qe & w9a feafa faato 4 enfa 9ger 9@ & yehia & a1 3ue
AT Tohd Wb ol SO 2 STasdeh UsHrg= Jidaie ot S |

(i)  Pass necessary Journal Entry when : 2
(@)  An unrecorded liability has been discharged by the firm.
(b)  An unrecorded liability is discharged by a partner on behalf of the firm.

ArerRFeh JSrH= gfefte e S

(a) H gr foret sifarfaa <ran skt sram foran e 2

(b) Terdl WEIER gR1 wH o foTq fepslt o sh1 offTar fepan e )
OR/3TeraT

(i) Give necessary Journal Entry for treatment of goodwill on retirement of a partner stating
the ratio in which goodwill is to be distributed.

HRIER & HaHgid W &Ad R & Ty Aavde JsHAmen gfafte dfe) 38 @fd &1
foraror 519 o79ara # 2B 38R Scor@ ot hifsa

What is meant by “Unearned Income’? Give accounting treatment and Adjustment entry of 2
unearned income.

‘fSia o’ o o 31 €2 sMfSia ot & faw e faeem iR gaEeH wfafe Sifsw)
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29. (i) State the formula for calculating manager’s commission :

(@)  When commission is allowed on net profit before charging such commission.

(b)  When commission is allowed on net profit after charging such commission.

YeEeh o SHHTYH i TUMT LA o 3 T A0 Y

(a) TS HHYE F AN HHYA T § I G TN T H 91T

(b) ST& HHE I TUET FHYH 6 LA G TNH T, FHE o ®9 H 61 S

OR/a12raT

(i) What is the need for preparing Income and Expenditure Account ?

3 =T Gl TIR he 1 eIkl Hl ¢ ?

30. (i) Compute operating profit from the following particulars.

Particulars ] Particular 4
Gross Profit 50,000|Interest on loan 2,200
Carriage outward 380 (Interest on Investment 280
Salaries 13,800|Loss on sale of furniture 3,500
Rent & Taxes 6,200|General Expenses 500
Lighting 1,500{Donation 510
Insurance charge 440|Rent Received 600
Bad Debts 1,250|Loss by Fire 2,000

Gain on Sale of Machine 5,000
frefafea foero | g=e aw w1 7oA SIS
foram 3 feram 3
Ghd a9 50,000 |zRu1 T =TS 2,200
e (SIedt) 380 | fiaer W =T 280
ERE 13,800 | = o fosra w a4 3,500
TR Ty 6,200 |gm=1 = 500
rEe 1,500(eH 510
ClLIKR] 440y ferTr 600
JTIT K0T 1,250| 31T g1 =1 2,000
TR o forgra AT 5,000
OR/3TeraT
68/ESS/1-320-B ] 9

(=3 [w]
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(i) As per ‘Receipts and Payment Account’ for the year ended on March 31%¢, 2023, the
subscriptions received were ¥ 2,50,000. Additional Information given is as follows :

1.  Subscription outstanding on 1.4.2022 < 50,000
2. Subscription outstanding on 31.3.2023 < 35,000
3.  Subscription received in Advance as on 1.4.2022 < 25,000
4.  Subscription received in Advances as on 31.3.2023 < 30,000

Ascertain the amount of income from subscriptions for the year 2022 - 2023.

I T& M W o STIER 31 A 2023 1 TATG 8 a1t 98 H 9 << shi AT T 2,50,000
71 rfafea Smert frefafed ©

1. 1.4.2022 ! 319 =l Z 50,000
2. 31.3.2023 & ASq =l Z 35,000
3. 1.4.2022 =1 MW g = T 25,000
4. 31.3.2023 @ 0H qr =T T 30,000

g9 2022 - 2023 & faw = &t TfE 9 91 3 w1 fHeir i)

31. (i) What journal entry is to be made at the time of a dissolution of partnership firm 3
when :
(a) Assets are taken over by the Partners
(b) Payment of liabilities by the Partners
(c) For transfer of Assets to Realisation Account

TR wH o o % Tw R IS wfafeat & S S
(a) URGUlAE 1 SRR WEeR g1 foRa T &
(b) HERR §RI THRRI ol YTTaM e = & |
(c) ogelt @ § ufufat s gwdiaRor & |
OR/3tran
(i) Explain the Accounting treatment of settlement of Partner’s Capital Accounts at the
time of dissolution of a partnership firm :

(a) When Partner’s Capital Account shows a debit balance.
(b) When Partner’s Capital Account shows a credit balance.

TERR FH % foeed % T WEeRi % ST @l o f9eM % oraieh SHagR i SRl e
(a) T TEIER % Uit @ | A 99 & |
(b) & WHER & Yif W H w1 99 F |

32. Give the meaning of : 3
(a) Called-up capital (b) Paid-up capital (c) Reserve capital
319 T
(a) e ot (b) e of (0 wfaa dof
33. (i) Whenacompany decides to raise capital by issuing shares, at that time give the meaning 3
of :
(a)  full subscription (b) under subscription (c) over subscription
9 hIE HEI ST Ui b o faaQ % o FRiee 1 o et § 39 w9 ot i
(@) Yo safuem (b) =A-3fueE (c) Afer-stfuer
OR/3TeraT
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(i) Differentiate between ‘Public Company” and ‘Private Company’ on the basis of :
(a) Minimum number of members
(b) Maximum number of members
(c) Name

“greifres e g S e | O o STeR IR 3T SifSu

(a) WS I IATH HE&A
(b) TS HI UHaH &
(€ TH

34. (i) From the following Trial Balance of MB Garments as on 315t March 2024, prepare 5
Trading Account and Profit and Loss Account for the year ended 315t March 2024 and
Balance sheet as on that date.

Dr Cr
Name of the Accounts Amount Amount
®) ®)
Capital 80,000
Cash in hand 570
Cash at Bank 5,600
Purchases 53,200
Sales 78,000
Carriage inward 2,040
Carriage outward 3,200
Stock (1% April, 2023) 10,790
Machinery 60,000
Salaries 4,000
Insurance Premium 600
Sundry Debtors 28,000
Sundry Creditors 10,000
Total 1,68,000 1,68,000

Following adjustments are to be accounted for :

(i) Stock on 31.3.2024 was < 10,000.

(i) Machinery to be depreciated @ 10% p.a.

(iii) Salaries for the month of March outstanding was < 1,200

(iv) Insurance Premium paid for one year ending 30th September 2024 was ¥ 300.

[ 3 [m]
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frefafad T o MHed & 31 7= 2024 & o9 9 31 HT9 2024 %1 FHG gH a1cl 99 o fog
IR @l Y-8 @rar o 3§ fafer o1 feafa faeron dar wifsa

a3 T am e SaT afs
() (%)
St 80,000
TS Vhe 570
S e 5,600
= 53,200
e 78,000
wTeT (3TTafe) 2,040
wTeT (aTed) 3,200
wiF (1 379 2023) 10,790
aeffdt 60,000
ELE] 4,000
o fifem 600
fafaer ger 28,000
fafer Ser 10,000
e 1,68,000(  1,68,000
@l # f=fafad aaEsE of S

(i) 31.3.2024 I TIH T 10,000 |

(i) HERI W 10% HT T H g M|

(iii) AT % FEM % AqT T YA Tal Il § 3Tqd o X 1,200 ¥ |

(iv) o o Hifem i 2300 © e e 30 faamR 2024 1 99 B 9t 96 o fog
[ERIKIR

OR/a12raT
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(i) From the following information of Young Ladies Club. Prepare Income and Expenditure
Account, the year ended 315t March 2024.

Particulars Amount
(%)
Salaries Paid 55,000
Lighting and heating 16,000

Printing and Stationery (including ¥ 5,000 for previous year) 3,500
Subscription received (including ¥ 2,000 received in advance

and ¥ 5,000 for the previous year) 40,000
Net proceeds of refreshment Room 45,000
Interest paid on Loan for half year 1,200
Rent and Rates (including ¥ 1,000 prepaid) 7,500
Locker rent received 4,500

Additional Information :
Subscriptions outstanding on 31.3.2024 were X 8,000. Half year’s interest on loan

was also outstanding.

Frefafed gemel o STUR W AT wfes &0« o faq 31 A 2024 I GHG 8H 9l o9
ToTq, A-=99 @1l TR hifeT :

- afi
)
EUCIEREDIKIRICKE] 55,000
ATl a ifen 16,000
i 7 et (fSraw % 5,000 foet o o fore wifrirfera 2) 3,500
e =aT (forad % 2,000 sret 9 a1 1 sy @ 3fi ¥ 5,000 40,000
et o & faw ?)
ST el | T 45,000
RN T AL ST HT T 1,200
fopren T (% 1,000 A3 ) 7,500
SIEZSCIIRIB I EI 4,500
stfafta Wﬂi :

31.3.2024 I 3TeT =T T 8,000; 0T 1 eIt =TS 1 T +ff 31T T
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35. Following is the Balance Sheet of A, B and C as at 315t March, 2024 :

Balance Sheet of A, B and C as at 31% March, 2024

Liabilities Al‘r(l;)l),ll‘lt Assets Al‘r(l;)l),ll‘lt
Sundry Creditors 37,2001 Cash in Hand 7,200
Capital Accounts : Cash at Bank 30,000
A 60,000 Stock 30,000
B 30,000 Debtors 42,000
C 30,000 1,20,000| Furniture 48,000

1,57,200 1,57,200

B died on 30" June, 2024. Under the partnership agreement the executor of B was
entitled to :

(a)
(b)
(©)
(d)

Amount standing to the credit of his capital Account.

Interest on capital which amounted to I 375.

His share of goodwill ¥ 21,000.
His share of profit from the closing of the last balance sheet to the date of his death

which amounted to T 2,625.

Draw B’s Capital Account to be rendered to his executors.

A, B 3R C =1 feafq faaror 31 99 2024 =01 f=fafad ©

A, B, C &1 feufa faawor 31 71<f 2024 1

Sard ufa - ufa

(}) ()
fafay Ser 37,200| === ke 7,200
IS @ o e 30,000
A 60,000 i 30,000
B 30,000 TR 42,000
C 30,000 1,20,000| =R 48,000
1,57,200 1,57,200

30 7 2024 1 B 1 Gg B TE | HERR A & TR B T STATURRT 71 1 SITUHRT 20 -
TSt W & S H qfe

et W =01 S 56 2375 %)
IHH | w1 @AIfd T 21,000

(a)
(b)
(©)
(d)

Sq feed o1 @y S o sifam feafa faaror @ gog =0t fafs @ 22,625 ©

B % ST hl UG e & foIw SHent di @ar aed |

68/ESS/1-320-B ]
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36.

H.K. Ltd. offered to public for subscription 30,000 shares of ¥ 100 cash payable as :
On application - X 30 per share

On allotment - ¥ 30 per share

On first and final call - Balance

Applications were received for 40,000 shares. Application for 5,000 shares were rejected
all together and application money was returned. The excess application money received
was adjusted towards sum due on allotment. Calls were made and duly received except
a shareholder holding 500 shares did not pay the call money.

Pass necessary journal entries in the books of the company.

TA.%. fa. 7 S &1 T 100 I o 30,000 A9 SR fohu, Fep1 ST 39 WhR 1 ©
3TeeA | - T 30 Hfa A
& | - T30 fd 3w

g g SAfaH I W - 99

40,000 39 o feTT AT Y L1 5,000 90 bl Y TE 9 TEelTehr Y feam T qen st
T AU F TG | SRS o MY YT §s ATeIeh TN FHEISH 3Teied | fohan S | 3=
Tfer Harg T IR g A U g2 fah ue Siwei B Siewt fEe 9™ 500 379 & iR 9%
STYL =T T R A T8l L 9|
FHEAT i TEIehl | STETEH A= Ffaftedr Hifsa |

OR/ 3Tera

L.M. Ltd. issued 2,00,000 shares of X 10 each at a premium of X 4 per share payable as
follows :

On application - ¥ 5 (including premium of X 3 per share)
On allotment - X 7 (including premium of X 1 per share)
On call - X 2 per share

Applications were received for 2,00,000 shares and allotment was made to all. All
money due was received.

Pass necessary Journal entries in the books of the company.

oA, fafiee A 9fd 3f91 T 10 % 2,00,000 2790 o1 T 4 iz @ S foran fSreht e fe
YRR H BT

e W - T 5 (% 3 ufa ofw wifem wfiat §1)

eled W - T 7 (T 1 9fa 7w Wi wfee 71)

I W - T2 Gid 39

2,00,000 3731 o foTu eTrered yre gU SR |eft =l 39 safeq fohd )
FHEET T Y&l B ST AT Ffaftedr Hife |
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37.

38.

39.

40.

41.

42.

43.

SECTION - B/ @UE - &
Attempt any one of the optional Module.

Jehfeueh AISIed | 9 hig Udh hifwl |
OPTIONAL MODULE - 1 / Jehfeueh WisTet - 1
(Analysis of Financial Statements) / ( fasita faeron =t fagaoor)

Cash Balance ¥ 15,000, Trade Receivables I 35,000, Inventory I 40,000, Trade payables 1
< 24,000; Bank overdraft is ¥ 6,000 Current Ratio will be :

%S 9 T 15,000; AR i T 35,000; Rl T 40,000; SATNRE SAIRAT T 24,0005 S
sifafaerd T 6,000 =] STIUM BT

(A) 375:1 (B) 3:1 <G 1:3 (D) 1:3.75

Angel Ltd., a stock broker, purchase 5,000 shares of Tata Housing Ltd., it is a : 1
(A) Operating Activity (B) Investing Activity

(C) Financing Activity (D) General Activity

Tt . ST T TR et €, 3 @i gRf fa1. % 5,000 iR w1 foen o foman anft
ISEREIGRRER GIREENAER

(C) feordiem fshan (D) wH= fshan

Debt equity ratio indicates risky financial position from the long term print of view if it 1
exceeds :

SrHRIei gite 9, 0T THaT T4 Sty ) i 1 SR S9RT a1 © Al 3 9g S

(A) 1:1 (B) 1:2 < 2:1 (D) 3:1

Ideal Current Ratio is : 1
STIGYT =Te] ST B © -

(A 1:1 (B) 1:2 < 1:3 (D) 2:1

“Cash from operating activities” will decrease due to : 1
(A) Increase in Current Assets (B) Decrease in Current Liabilities

(C) Increase in Current Liabilities (D) Both (A) and (B) above

“yarer fshaneti @ Tehg’’ yaTe %Y BN AfS

(A) =Te] Hufqai =g ST | (B) el SFATC ¥ Bl ST |

(C) e TFAIE &g ST | (D) (A) 3R (B) S|

‘Dividend received’ by other than financial enterprise is shown in cash flow statement under: 1
(A) Operating Activities (B) Investing Activities

(C) Financing Activities (D) General Activities

foritar Heem o ifaftea arvre wifa’ 61 Askhs gaTe foer # forder sT=ta fa@man e ?

(A) e fwemg (B) frrerr fopamy

(GEREERERERI (D) wH fspamg

Complete the following Sentences : 1x2

(i)  In cash flow statement the amount of interim dividend paid during the year is shown as ?
(i) Buy back of equity shares is shown as cash outflow from which type of activity ?

11 el o1 qU IS
() ehg yare faero # ad % <R faafa sfaf enaier F9 fe@man s € 2
(i) o I A TS Vhe yaTe faawer # fora foran & stia fewm St €2
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44.

45.

46.

47.

Calculate the gross profit ratio from the following data : 2
Sales X 3,25,000; Sales returns I 25,000 and Cost of revenue from operations < 2,40,000.
frefafad gaell 9 Tha oy STU i AT ST
fasnt % 3,25,000; fosp! amaet T 25,000; T=@H ¥ ANTH &1 @G T 2,40,000
What is meant by cash flow statement ? State two objectives of preparing cash flow statement. 2
Ak gare faaxor 1 = 31ef 2 Uhg yaTe faawur & < 32T 1 3eeid ity |
State any three limitations of cash flow statement. 3
ks JaTe Taaxor i Tl o WIS 1 Seer@ hifad |
Following are the Balance sheets of Kan Ltd., prepare cash flow statement. 5
. Note| 31% March |31® March
Particulars
No. [ 2024 (?) 2023 (%)
I. Equity and Liabilities
1. Shareholder fund
(a) Share capital 3,50,000(  3,00,000
(b) Reserve and surplus 1 33,000 20,000
2. Current Liabilities
Trade Payables 55,000 80,000
Total 4,38,000 4,00,000
II. Assets
1. Non Current Assets
Fixed Assets - Tangible Assets (Land) 76,000 60,000
2. Current Assets
(a) Inventories 1,20,000 1,10,000
(b) Trade receivables 1,55,000 1,60,000
(c) Cash and Cash equivalents 87,000 70,000
Total 4,38,000 4,00,000
Note to Accounts :
. 31%* March 31%* March
Particulars
2024 2023
1. Reserves and Surplusi.e., Balance in
X 33,000 20,000
statement of Profit and Loss
[=]37 =]
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frfafea &4 fa. & feafa foero €, 378 g yare faawo TR Fifse

fewt |31 o< 202431 i< 2023
& ' a4 A<
4. () (})
L. oAt 9 I
1. srrames fAfy
(a) iy dsft 3,50,000{  3,00,000
(b) T TS AR 1 33,000 20,000
2. =T wafwE
SR < 55,000 80,000
%A 4,38,000 4,00,000
1. gafn
1. v e e
Tl Tt - - 76,000 60,000
2. =re] waferR
(a) i 1,20,000]  1,10,000
(b) =TIR W= 1,55,000]  1,60,000
(c) The Td Uehe TG 87,000 70,000
%A 4,38,000 4,00,000
i W feofor
ez 3191 2024 | 3147 2023
1. g=9 w@ SAfai AL ATH-TH forew
™ A 33,000 20,000
R
OPTIONAL MODULE - II / 9&hfcueh HigTa - 11
(Application of Computers in Financial Accounting)
(e ot fafaa sraie § 3uEnT)
37. Calling cells by just their columns and row labels is called : 1
(A) Absolute referencing (B) Mixed referencing
(C) Relative referencing (D) Both (A) and (B)
JehIS3] ol STeh! Ufekral 3R Tisli & 19 & YHRAT FHeard ¢ :
(A) ey ged (B) Tufsa Hed
(C) waH ded (D) (A) = (B) I
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38. Which element of a chart provides the additional information about a data marker to identify 1
the details of data point in a data series ?

(A) The legend (B) The Data Labels
(C) The Data points (D) The plot area

1S T I G TS ST AR hl AR g1 STeTs 4l © ol 58 srer it # <21 fag &
IR foreruil ST TEe Wk ?

(A) dSe (B) T Bl oladd
(C) = feig (D) e &
39. In Excel software Pie chart cannot plot more than : 1
(A) Seven Categories (B) Four Categories
(C) Ten Categories (D) Eight Categories
TR WITeeeR | 0TS St H 389 3Afen AT siferd TEl i ST wepdl
(A) gra gforn (B) = aftr
(C) == s (D) T3 Afor
40. Data Base management system overcomes the limitation such as : 1

(A) Data redundancy and inconsistency

(B) Data isolation

(C) Data duplicity

(D) All of the above

S Yol®l YOIl %S FehR oht Harell & e it § S ¢
A) TEI AfNE & STHTaa

(
(B
(
(

SClEPECI eI

~

C) S 1 SRl
D) SR |+t

41. Which of the following Component of MS Access is used to create various reports as per the 1
requirement of the end user ?

(A) Table Object (B) Report Object (C) Forms Object (D) Queries

SifqH gATeRTl i SATEvIRATIER fafy= Rt 1 go & & fou f=fafed § 9 .oy, 9 &
g w1 AT fohan S & 2

(A) IS 3lesiae (B) RUR sffssile (C) Wi 3fssige (D) &S
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42.

43.

44.

45.

46.

47.

Once the data types is specified M.S Acess allows designer to define properties of each column.
In the context of text data type one of the general properties relate to ‘Caption” which means :
(A) single, double or decimal type of numbers

(B) how the field’s contents are displayed

(C) specifying a value for new entries of data records

(D) alabel used for the field in data sheet and on forms and reports

TF IR 59 TR YR fafer<isa & a1 § @ TH.0d. W9 T R@d Sl Jh WY & A0l ol
R T T AN TAT 7| TR T2 YRR & Hed H AT oo R o e ®

(A) HeMsA % Thdd, qet AU XHAT FhN |

(B) & = o wrft ShE <O T T

(C) <rer ifveral i 5 gfaftedl gg AHI 1 fafreieno |

(D) <11 ¥ite, Wl aur Rdref < &5 ’q YgeR foham T ot |

The Net salary payable to an employee is obtained by deducting from

T FHHAR Fl T IS daq e & ferg =i S T ST § 1x2=2

Write the steps involved for copy a chart to word.

T 91 &l IS | 4l i § QiAferd == fafay |

State the earning elements used in Pay Roll calculations. Also state how these are
calculated ?

T A 1 TOFT U SASHIST o FShl T ool i | I8 T Sooid hifsu foh 3Tt TOAT Hd
T ST § 2

Explain formatting the chart using design option.
“festea faered’’ &1 TIIM 91 916 1 Sl IR fohan ST €, samen shifsie |

Using Charts/Graphs tools in Excel. Explain while modifying a chart how :
(a) To move the chart

(b) To change the data included in the chart

(c) To reverse the data which are displayed in the rows and columns and
(d) To modify the labels and titles

TR/ UMH & 3TaFal BT TN R Ig AT HIfGT o FH T § 9 Al bl gRafdd s S®
mmm%:

(a) =T I TIH IREdA

(b) 3HH wifad S # aRedd

(c) el IR e # yefefa e # uRadd

(d) <o 9 3R H gUR

-000-
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